

ON COMMUTING PROPERTY OF FILED PRODUCT OF COEQUALITY RELATIONS

DANIEL ABRAHAM ROMANO
and MILOVAN VINČIĆ

Faculty of Education Bijeljina
East Sarajevo University
76300 Bijeljina
Semberskih Ratara Street
Bosnia and Herzegovina
e-mail: bato49@hotmail.com

Faculty of Mechanical Engineering
Banja Luka University
78000 Banja Luka 75,
Vojvoda Stepa Stepanović Street
Bosnia and Herzegovina

Abstract

It is known that if R and S are coequality relations on set X with apartness, then their filed products need not to be coequality relations. Moreover, for two products $R * S$ and $S * R$ need not to be $R * S = S * R$. After some preparations, we give some necessary and sufficient conditions in order that two coequality relations R and S on the same set be commuting with respect to filed product in the sense that $R * S = S * R$.

2010 Mathematics Subject Classification: Primary 03F65; Secondary 04A05, 08A02.

Keywords and phrases: constructive mathematics, set with apartness, quasi-antiorder, coequality, commutativity properties of filed product.

This paper is partially supported by the Ministry of Science and Technology of the Republic of Srpska, Banja Luka, Bosnia and Herzegovina.

Received September 15, 2010

© 2010 Scientific Advances Publishers

1. Introduction

Issues of commuting relations on sets draw attention more years. Many authors are investigated commuting equivalences, orders, and quasi-orders ([4]-[6], [8], [15]-[17]).

Setting of this article is the constructive mathematics, mathematics based on the intuitionistic logic, in the sense of books [1]-[3] and [7]. Some of important relations here are apartness, quasi-antiorder, anti-order, and coequality relations. A relation ‘ \neq ’ is called an *apartness* on a set $(X, =)$ if it is consistent, symmetric, and cotransitive, i.e., if the following

$$\neg(x \neq x), \quad x \neq y \Rightarrow y \neq x, \quad x \neq z \Rightarrow x \neq y \vee y \neq z,$$

hold for any $x, y, z \in X$. For relation R in set $(X, =, \neq)$ with apartness, we say that it is a quasi-antiorder relation on X , if satisfies the following conditions:

$$R \subseteq \neq \text{ (consistency) and } R \subseteq R * R \text{ (cotransitivity),}$$

where the operation “ $*$ ”, the filled operation between relations R and S on set X , is defined by

$$S * R = \{(x, y) \in X \times X : (\forall t \in X)((x, t) \in R \vee (t, y) \in S)\}.$$

If a quasi-antiorder R satisfies the following condition $\neq \subseteq R \cup R^{-1}$, it is called *anti-order relation* on X . Finally, if a relation R is consistent, symmetric, and cotransitive, it is called *coequality relation* on set X . Characteristics of these relations are investigated by this author in his several papers, for example, in [9]-[11].

In this article, as a continuation of our forthcoming paper [14], we investigate one of commuting problems of these relations. If R and S are coequalities, then their filed products not need to be coequality relations again, in general case. After some preparations, we give some sufficient conditions in order that the filed products of two coequality relations on

the same set are coequality relations again, and moreover, that they commute with respect to the filed product in the sense that $R * S = S * R$. In this research, we grounded on the intuitionistic logic. Moreover, since the notion of coequality relation and the filed product of relations are important in the constructive mathematics, we analyze filed products of coequality relations on same set with apartness. So, we study side effects induced by existence of apartness and coequality relations in set.

2. A Few Basic Facts on Relations

As usual, a subset R of a product set $X \times X$ is called a *relation* on X . In particular, the relation $\nabla = \{(x, y) \in X \times X : x \neq y\}$ is the diversity relation on X . If R is a relation on X , and moreover $x \in X$, then the sets $xR = \{y \in X : (x, y) \in R\}$ and $Rx = \{z \in X : (z, x) \in R\}$ are called *left and right classes* of R generated by the element x . The relation $\{(y, x) \in X \times X : (x, y) \in R\}$ is the inverse of R and denoted by R^{-1} . Moreover, if R and S are relations on X , then the filed product of S and R are defined by the usual way as above.

It is easy to see that a relation R on X is:

- (1) consistent if $R \subseteq \nabla$,
- (2) cotransitive if $R \subseteq R * R$, and
- (3) linear if $\nabla \subseteq R \cup R^{-1}$.

It is not so hard to see that a relation R on X is a coequality relation on X , if and only if holds $R = (R * R) \cap \nabla$. Besides, if R is a coequality relation on X , then holds $R = R * R$.

In the first assertion, we prove that the filed product of relations are associative.

Lemma 2.1. *Let R , S , and T be relations on a set X . Then:*

- (1) *If $S \subseteq T$, then $S * R \subseteq T * R$ and $R * S \subseteq R * T$;*
- (2) *$T * (S * R) = (T * S) * R$.*

Proof. (1) Let (u, w) be an arbitrary element of $S * R$. This means, $(\forall v \in X)((u, v) \in R \vee (v, w) \in S)$. According to hypothesis $S \subseteq T$, we have that $(\forall v \in X)((u, v) \in R \vee (v, w) \in T)$ is true. Hence, we have $(u, w) \in T * R$. Therefore, we proved that $S * R \subseteq T * R$.

The implication $S \subseteq T \Rightarrow R * S \subseteq R * T$, we prove analogously to previous.

(2) If x, y, z, u are arbitrary elements of X , we have:

$$\begin{aligned}
 (x, u) \in T * (S * R) &\Leftrightarrow (x, z) \in S * R \vee (z, u) \in T \\
 &\Leftrightarrow ((x, y) \in R \vee (y, z) \in S) \vee (z, u) \in T \\
 &\Leftrightarrow (x, y) \in R \vee ((y, z) \in S \vee (z, u) \in T) \\
 &\Leftrightarrow (x, u) \in (T * S) * R. \quad \square
 \end{aligned}$$

Since the filed product is associative, in particular, for all natural number $n \geq 2$, we put ${}^n R = R * ({}^{n-1} R) = ({}^{n-1} R) * R$ and ${}^1 R = R$ and ${}^0 R = \nabla$. For any relation R on X , we define $c(R) = \bigcap \{{}^n R : n \in \mathbb{N} \cup \{0\}\}$. It is known (see, for example, [11] or [13]) that the relation $c(R)$ is the biggest quasi-antiorder relation on X contained in R . Let us note that the operation c is monotone in sense if $R \subseteq S$, then $c(R) \subseteq c(S)$. Moreover, if R is a quasi-antiorder relation on X , then holds $c(R) = R$.

For a coequality relation R on a set X , we take the family $A(R) = \{Rx\}_{x \in X}$ of classes of the relation R generated by elements of X . It is clear that $xR = Rx$ because the relation R is symmetric. Since R is consistent relation, we have $x \bowtie Rx$. Besides, since R is a cotransitive relation any Rx is a strongly extensional subset of X . Indeed, for any elements $x, y, z \in X$ such that $(x, y) \in R$, holds $(x, z) \in R \vee (z, y) \in R$. Thus, by consistency of R , $z \in Rx \vee y \neq x$. So, the family $\{Rx\}_{x \in X}$ is a subfamily of strongly extensional subsets of X . Suppose that for two classes xR and yR is true $xR \neq yR$. It means $(\exists u \in X)(u \in xR \wedge \neg(u \in yR))$ or

$(\exists v \in X)(\neg(v \in xR) \wedge v \in yR)$. From $(x, u) \in R$, follows $(x, y) \in R \vee (y, u) \in R$. Hence, we have $xR \cup yR = X$ because the second case is impossible. From $(v, y) \in R$, we analogously again got $xR \cup yR = X$. Therefore, for the family $\{Rx\}_{x \in X}$ is true:

(i) $x \bowtie xR$; (ii) $xR = Rx$; and (iii) $xR \neq yR \Rightarrow xR \cup yR = X$.

Now, suppose that a family $\{A_t\}_{t \in X}$ of strongly extensional subsets of X satisfies the following conditions:

(a) For any $t \in X$, there exists a strongly extensional subset A_t such that $t \bowtie A_t$;

(b) $A_t \neq A_s \Rightarrow A_t \cup A_s = X$ for any $t, s \in X$.

Let us define a relation R on X by

$$(x, y) \in R, \text{ if and only if } (\exists u \in X)(x \in A_u \wedge y \bowtie A_u).$$

It is clear that relation R is consistent. Besides, for elements x, y , there exist subsets A_x and A_y such that $x \bowtie A_x$ and $y \bowtie A_y$. So, since $x \in A_u \wedge x \bowtie A_x$, we have $A_u \cup A_x = X$. Hence, $y \in A_x$. Thus, we have $x \in A_y$. Finally, we have $x \in A_y \wedge y \bowtie A_y \wedge x \bowtie A_x \wedge y \in A_x$. So, the relation R is symmetric.

Assume $(x, z) \in R$ and $y \in X$. Then, there exist subsets A_x and A_z such that $x \bowtie A_x$, $z \bowtie A_z$, $x \in A_z$, and $z \in A_x$. By (iii), we have $A_x \cup A_z = X$ and $y \in A_x$ or $y \in A_z$. Therefore, we have $x \bowtie A_x \wedge y \in A_x$ or $y \in A_z \wedge z \bowtie A_z$. We conclude that $(x, y) \in R$ or $(z, y) \in R$. So, the relation R is a cotransitive relation on X . Finally, we have that the relation R is a coequality relation on X .

In the following assertion, we describe the connection between a coequality relation R and the corresponding family $\{A_t\}_{t \in X}$.

Lemma 2.2. *For a coequality relation R on a set X , there exists the unique family $\{A_t\}_{t \in X}$ of strongly extensional subsets of X , which satisfies the condition (a) and (b).*

Example 1. For set $X = \{1, 2, 3, 4\}$ and coequality relation

$$R = \{(1, 2), (1, 3), (1, 4), (2, 1), (2, 3), (2, 4), (3, 1), (3, 2), (4, 1), (4, 2)\},$$

the corresponding family of strongly extensional subsets contains the following subsets: $1R = \{2, 3, 4\}$, $2R = \{1, 3, 4\}$, $3R = \{1, 2\}$, and $4R = \{1, 2\}$. \diamond

For undefined notions and notations, we refereed on articles [11]-[13].

3. The Main Result

Our analyze, we start with symmetric relations:

Lemma 3.1. *If R and S are symmetric relation on X , then the following assertions are equivalent:*

- (1) $S * R \subseteq R * S$;
- (2) $R * S$ is symmetric relation on X ; and
- (3) $R * S = S * R$.

Proof. If (1) holds, then it is clear that

$$(R * S)^{-1} = S^{-1} * R^{-1} = S * R \subseteq R * S.$$

In fact, if (y, x) is an arbitrary element of $X \times X$, we have

$$\begin{aligned} (y, x) \in (R * S)^{-1} &\Leftrightarrow (x, y) \in R * S \\ &\Leftrightarrow (\forall t \in X)((x, t) \in S \vee (t, y) \in R) \\ &\Leftrightarrow (\forall t \in X)((t, x) \in S^{-1} \vee (y, t) \in R^{-1}) \\ &\Leftrightarrow (y, x) \in S^{-1} * R^{-1} \\ &\Leftrightarrow (y, x) \in S * R \text{ (because } R \text{ and } S \text{ are symmetric).} \end{aligned}$$

Therefore, (2) also holds.

Further on, suppose that (2) holds. Then, it is clear that

$$R * S = (R * S)^{-1} = S^{-1} * R^{-1} = S * R.$$

Therefore, assertion (3) also holds.

The implication (3) \Rightarrow (1) is clear. \square

Concerning cotransitive relations, we can prove:

Lemma 3.2 ([14], Theorem 3.2). *If R and S are cotransitive relations on X such that $S * R \subseteq R * S$, then $R * S$ is also a cotransitive relation on X .*

Proof. By Lemma 2.1, we evidently have

$$\begin{aligned} R * S &\subseteq (R * R) * (S * S) = R * (R * S) * S \subseteq R * (S * R) * S \\ &= (R * S) * (R * S). \end{aligned}$$

So, the relation $R * S$ is a cotransitive relation on X . \square

The following example shows that an analogue of Lemma 3.1 for cotransitive relations need not be true.

Example 2. If $X = \{1, 2, 3\}$, and moreover,

$$R = \{(1, 1), (2, 1), (2, 2), (3, 1), (3, 2), (3, 3)\}, \text{ and}$$

$$S = \{(1, 1), (2, 1), (2, 2), (2, 3), (3, 1), (3, 3)\},$$

then it can be easily seen that R and S are cotransitive relations on X . We have that

$$S * R = \{(1, 1), (1, 3), (2, 1), (2, 3), (3, 1), (3, 2), (3, 3)\},$$

$$R * S = \{(1, 1), (1, 2), (2, 1), (2, 2), (2, 3), (3, 1), (3, 2)\}.$$

It is not so hard to see that $S * R$ and $R * S$ are also cotransitive relations on X , but $\neg(S * R \subseteq R * S)$ and $\neg(R * S \subseteq S * R)$. \diamond

Despite example above, we can still prove:

Lemma 3.3 ([14], Theorem 4.1). *If R and S are quasi-antiorders on X , then the following assertions are equivalent:*

- (1) $S * R \subseteq R * S$;
- (2) $R * S$ is a quasi-antiorder;
- (3) $R * S = c(R \cap S)$.

Proof. Since $R * S \subseteq \nabla * \nabla = \nabla$, by Lemma 3.2, it is clear that the implication (1) \Rightarrow (2) is true.

Moreover, by the corresponding properties of the operation c , (see, for example, [13]) it is clear that $c(R \cap S) \subseteq c(R) = R$ and $c(R \cap S) \subseteq c(S) = S$, and hence $c(R \cap S) = c(R \cap S) * c(R \cap S) \subseteq R * S$.

On the other hand, by the consistency of the relations R and S , it is clear that $R * S \subseteq \nabla * S = S$ and $R * S \subseteq R * \nabla = R$, and thus $R * S \subseteq R \cap S$. Since $c(R \cap S)$ is the biggest quasi-antiorder relation under $R \cap S$, we have to $R * S \subseteq c(R \cap S)$. Therefore, the implication (2) \Rightarrow (3) is also true.

Finally, from the inclusion $c(R \cap S) \subseteq R * S$ established above, it is clear that $S * R = c(S \cap R) = c(R \cap S) \subseteq R * S$. Therefore, the implication (3) \Rightarrow (1) is also true. \square

The following example shows that the equality cannot be stated in above lemma:

Example 3. If $X = \{1, 2, 3\}$, and moreover,

$$R = \{(1, 3), (2, 1), (2, 3), (3, 1), (3, 2)\}, \text{ and}$$

$$S = \{(1, 2), (1, 3), (2, 1), (2, 3), (3, 2)\},$$

then it can be easily seen that R and S are quasi-antiorders on X such that $S * R = \{(1, 3), (2, 1), (2, 3), (3, 2)\}$ is a quasi-antiorder on X and $R * S = \{(1, 3), (2, 1), (2, 3)\}$ is not a quasi-antiorder X , but the inclusion $R * S \subset S * R$ holds. \diamond

Finally, by using Lemmas 3.1 and 3.3, we can prove the following theorem:

Theorem 3.1. *If R and S are coequality relations on set X , then the following assertions are equivalent:*

- (1) $R * S = S * R$;
- (2) $S * R \subseteq R * S$;
- (3) $R * S = c(R \cap S)$;
- (4) $R * S$ is a quasi-antiorder;
- (5) $R * S$ is consistent and symmetric relation on X ; and
- (6) $R * S$ is a coequality relation.

Proof. The first, note that $R \cap S$ in this case is a symmetric relation again. The second, the implications (1) \Leftrightarrow (2), (6) \Rightarrow (4), (3) \Rightarrow (4), (2) \Leftrightarrow (3), (6) \Leftrightarrow (1), (5) \Rightarrow (1), and (6) \Rightarrow (5) are obvious.

(4) \Rightarrow (6) Suppose that (4) holds. Then, by Lemma 3.3, follows $S * R \subseteq R * S$. Besides that, since $R * S$ is a symmetric relation (by Lemma 3.1), thus follows $R * S = S * R$. So, the assertion (6) is true. \square

Now, we give two examples in connection with the above theorem:

Example 4. (1) Assume set $X = \{1, 2, 3, 4\}$ and relations

$$R = \{(1, 2), (1, 3), (1, 4), (2, 1), (2, 3), (2, 4), (3, 1), (3, 2), (4, 1), (4, 2)\},$$

$$S = \{(1, 3), (1, 4), (2, 3), (2, 4), (3, 1), (3, 2), (3, 4), (4, 1), (4, 2), (4, 3)\}.$$

It is not so hard to check that R and S are coequality relations on X and that is,

$$S * R = \{(1, 3), (1, 4), (2, 3), (2, 4), (3, 1), (3, 2), (4, 1), (4, 2)\} = R * S.$$

(2) If we choose the following coequality relations

$$R = \{(1, 2), (1, 3), (2, 1), (2, 4), (3, 1), (3, 4), (4, 2), (4, 3)\}, \text{ and}$$

$$S = \{(1, 3), (1, 4), (2, 3), (2, 4), (3, 1), (3, 2), (4, 1), (4, 2)\},$$

we have $S * R = \emptyset$ although is $R \cap S = \{(1, 3), (2, 4), (3, 1), (4, 2)\} \neq \emptyset$.

◇

Finishing this article, we give the following theorem:

Theorem 3.2. *If R is a consistent and symmetric relation and S is a cotransitive relation on set X such that $S \subseteq R$, then for any $x, y \in X$, the following assertions are equivalent:*

- (1) $y \in xS$;
- (2) $y \in x(S * R)$;
- (3) $X = xR \cup Sy$; and
- (4) $xS \cup yR = X$.

Proof. (1) \Leftrightarrow (4) Suppose that (1) holds. Then, it means $(x, y) \in S$, and by cotransitivity of S from this follows $(\forall t \in X)((x, t) \in S \vee (t, y) \in S)$. So, we have $X = xS \cup Sy$. Since we have $Sy \subseteq Ry = yR$ by symmetry of R , we conclude that $X = xS \cup yR$. Therefore, the condition (4) is true. Opposite, if (4) is valid, then from $y \bowtie yR$ because R is a consistent relation on X and $y \in X$ follows $y \in xS$.

(1) \Leftrightarrow (2) According to $S \subseteq R$ and properties of relations R and S , we have $S \subseteq S * S \subseteq S * R \subseteq S * \nabla = S$. Therefore, we have $S = S * R$. Thus, assertions (1) and (2) are equivalent.

(2) \Rightarrow (3) If (2) holds, i.e., if $y \in x(S * R)$, it means $(x, y) \in S * R$. Thus, we have $X = xR \cup Sy$. So, the assertion (3) is true.

(3) \Rightarrow (1) Let (3) is valid. Since R is a consistent relation, we have $x \bowtie xR$. So, we have to have $x \in Sy$, and thus $y \in xS$. Therefore, the assertion (1) is true. □

Finally, let R and S be coequality relations such that $S * R$ exists. As corollary of Theorem 3.1, we can give a description of $(S * R)$ -classes:

Corollary 3.1. *Let R and S be two coequality relations on set X such that $S * R$ is a coequality relation also. Then,*

$$x(S * R) = \{t \in x(R \cap S) : X = xR \cup St\}.$$

Example 5. Let set X and relations R and S be as in the Example 4(1). Subsets $1(S * R) = \{3, 4\}$, $2(S * R) = \{3, 4\}$, $3(S * R) = \{1, 2\}$, and $4(S * R) = \{1, 2\}$ are classes of filed product $(S * R)$. For example, for subsets $1R = \{2, 3, 4\}$, $2S = \{3, 4\}$, $3S = \{1, 2, 4\}$, $4S = \{1, 2, 3\}$, we have $1R \cup 3S = X$ and $1R \cup 4S = X$. \diamond

References

- [1] E. Bishop, Foundations of Constructive Analysis, McGraw-Hill, New York, 1967.
- [2] D. S. Bridges and F. Richman, Varieties of constructive Mathematics, London Mathematical Society Lecture Notes 97, Cambridge University Press, Cambridge, 1987.
- [3] D. S. Bridges and L. S. Vita, Techniques of Constructive Analysis, Springer, New York, 2006.
- [4] D. Finberg, M. Mainetti and G.-C. Rota, The logic of commuting equivalence relations, Logic and Algebra, Lecture Notes in Pure and Applied Mathematics, Vol. 180, A. Ursini and P. Agliano, Eds., Decker, (1996), 69-96.
- [5] T. Glavosist and A. Szaz, Characterizations of commuting relations, Acta Mathematica, Universitatis Ostraviensis 12 (2004), 23-31.
- [6] M. Jovanović, A note on union of equivalence relations, Univ. Beograd, Publ. Elektroteh. Fak. Ser. Math. 11 (2000), 100-102.
- [7] R. Mines, F. Richman and W. Ruitenburg, A Course of Constructive Algebra, Springer-Verlag, New York, 1988.
- [8] O. Ore, Theory of equivalence relations, Duke Math. J. 9 (1942), 573-627.
- [9] D. A. Romano, Equality and coequality relations on the Cartesian product of sets, Math. Logic Quarterly (Formerly: Z. Math. Logik Grundle. Math.) 34(5) (1988), 471-480.
- [10] D. A. Romano, Decomposition of coequality relation on the Cartesian product of sets, Filomat 9(3) (1995), 915-924.

- [11] D. A. Romano, On construction of maximal coequality relation and its applications, Proceedings of 8th International Conference on Logic and Computers Sciences LIRA 97, Novi Sad, September 1-4, 1997, (Editors: R. Tošić and Z. Budimac), Institute of Mathematics, Novi Sad (1997), 225-230.
- [12] D. A. Romano, A note on quasi-antiorder in semigroup, Novi Sad J. Math. 37(1) (2007), 3-8.
- [13] D. A. Romano, An isomorphism theorem for anti-ordered sets, Filomat 22(1) (2008), 145-160.
- [14] D. A. Romano, Some characterizations of filed product of quasi-antiorders, Acta Universitatis Apulensis, Ser. Math. Inf. (to appear).
- [15] F. Sik, Über Charakterisierung kommutativer, Zerlegungen Spisy Vyd. Pfirod. Fak. Masarykovy Univ. 3 (1954), 97-102.
- [16] Catherine Huafei Yan, Distributive laws for commuting equivalence relations, Discrete Mathematics 181(1-3) (1998), 295-298.
- [17] Catherine Huafei Yan, Commuting quasi-order relations, Discrete Mathematics 183(1-3) (1998), 285-292.



Kindly return the proof after
correction to:

Scientific Advances Publishers

71/52 Bhusoli Tola
Khuldabad
Allahabad 211 006 (INDIA)

along with the print charges* by
the fastest mail

***Invoice attached**

Proof read by:

Signature:

Date:

Tel:

Fax:

E-mail:

Number of additional reprints required

.....

Cost of a set of 25 copies of additional
reprints @ Euro 10.00 per page.

(25 copies of reprints are provided to the
corresponding author ex-gratis)